T IR

T () HFEOFTWIZHOWT

Jml

5 (EF) BEFEOARICI VMV E-FHRIL., BRSO
DM B8N D D720, é&%ﬂ@ﬂ% \ZdH 7o Tl
AV Df%%ﬁoﬁ@AXi%A BiT25 1 AAIZIES H O
L. FEEEBIZEDLLT B =2 ~0mMT4 21772\ 2

N N Ny of H

(@)

T I



R7FIL HEII FE-BE PR RRES

BB I B3 M5 ki Hi| % 8 B & % i =
TR ER fif R - BB TS = 1 5,732,000
TR ER A A - B 2 1 1,821,070
HERER fi AR = 1 1,083,670
MHE 2 1 29,000
M E = 1 29,000 972,630 * 3.00%
EERE = 1 68,000
EERE (E5E) = 1 68,000 972,630 * 7.00%
EESHE = 1 986,670
FRR = 1 986,670 ¥ 1 SHffX
PR ER R R 2 1 737,400
MHE 2 1 167,000
FREES RER 2 1 160,000 ¥ 2 SHfiX
M E = 1 7,000 242,400 * 3.00%
EERE = 1 16,000
EERE (E5E) = 1 16,000 242,400 * 7.00%
EESHE 2 1 554,400
FHE 2 1 554,400 ¥ 3 SHffix
EERRERE = 1 1,821,070
HEREER = 1 382,000
HERHRE (L) = 1 382,000 1,821,070 * 21.00%
MEAREREE 2 1 2,203,070
RiISEERE = 1 445,000 2,203,070 * 20.21%
RIRBHEEE = 1 1,944,000 1,215,030 * 160.00%
AR R = 1 4,592,070
—REEEF = 1 1,139,930 4,592,070 * 24.83%
RIRBEEBMEE = 1 5,732,000
HERESE = 1 573,200 10.00%
RIRBHEES = 1 6,305,200
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